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30141200 Zu:2rlruuurpp (\urfi mpurunp) qpuruhblur\ru1$r uu hunn 2300 9200 4

39263510 Uhrplur\ (\tJrutu)/ f"pp uu huru 25 750 30

39263520 Uh4ilur\ (\rl'ulu)/ ilhSbh uu hurur 40 r200 5U

39253530 Utryiru\ (\frqu)/ ilhb uu hurur *60 1800 30

30192100 tlburlrh huruurpur\ UU hunn 100 1500 I)

30192750 b1 nrluruurtphhpfr hunlurpurbnt UU rnnL+ 500 3000

30192760 Unhl, unrlnnurburh UU hunn 150 2250 If

30197331 lut\h> puhnhnr.l UU huln 2200 11000 5

30199231 t urlurqb bpurp A5 &hu2urfft uu hurur 40 8000 200

3924t2t0 U\ purur/ qpurubtrl u\ur1 [t uu hunn 250 1250 5
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0921 1 100 Snqhp uu tJr*p 2600 130000 50

34326100 }mr1lr qurfry UU huru 4000 24000 A

34326100 )nh qurhl UU hurur 6000 35000 6

34331300 Iturhh urnqht urhrlurh L ndn urh UU Inilq 9800 58800 5
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48191100 Zudurl hprul |rtr burnur;nqhtp[ rfpgnr-pllihp]r h ururtuurun[npnulhhpp- uu lFulI 440000 440000 7
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301992127 +pf2/qbqf\u{np €eUe uu hrurn "^ 100 2000 20

30192r28 +plr2/qhlurlhtr €qUq uu hruur L)u 3000 20

301,92737 tlunnlrur qpru$flnh rllr2m\ml €\Ua uu hrurn 100 300 3

30797232 Olpruqurhru\/ urpurqur\urF, Idrlfdlur €rIUq uu huru 80 950 72

30197233 Orlpurqurhur\/folph . phprl €9U$ uu hurr,n 100 t200 72

30197234 Oqpuruluhur\/plpruqurhur\ \n2rn \urqrlnrl €VUS uu hrurn 1000 3000 3

30192 100 llhrnfrh huruurpur\ €rrUQ UU hurtn 100 500 5

30197331 lur\|r2 purtrntrmi €9Ue uu huln 2200 2200 L

3019732t +tu1f2(uuhqlhp) €trUQ Lru hurur 1700 I700 1

39263310 )purgnr3 utlurtrlr €rrUg uu hunn 900 1800 a
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30199430 L2nriibhpf pnrrp /urpgur\hhpnrl PUUQ uu rnnLth 300 300 1

30197631 Onrrp/ Aa $npriurufr (27x29.7\ €rrUq uu urnr-lh 2300 11500 5

30192720 9buL2|r2 (riurp\hp) €UUe uu huln 250 250 7

301,97171, q*nft:lr rlhururlulurph \urqhp/ rJrnpp €trU9 UU trrnL+ 100 200
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I 'Ilu.rur6hhurhurhnqurupplrpurpfapb2hpripnr\frrfrnfuurpfhmri f r""*T-sooo-l 10000 |E
JPnrqFF_ r_Ir th.pLnqpF hrutrp. burnurlnlplnttrtrtp

ludlrh ol fumrlp 5 rluru 1 Epurglrn Sr 4000000

Ournurlntp;nr-hhtp 4000000

Uuruhurqlnnur\urh Eurnurlmplmlrtrhp/ hqrlurb  2a1l,nplrg 1500000

70000000 Utr 2u[rd qnq ph hbrn \urqrlurb burnurlntp3 mhhhp UU rlpuril 500000 s00000 t-
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73432t00 l,lnrpur\uh updhpfr qhuhunnmrl UU rlFurli 100000 100000 1

71311-360 lhhphp! 2rurfrurqpriurtr burmulnrplmhtrhp uu rlFuril 600000 500000 L

'tlupuurlfrp rldruphhp /hnqrlub a823l,np[rg 2500000
rlhurru\urh urnrpp h rutr2urpd qnr-1pfr hbur \urqr{urb qurprnurqfrp 9? rlFuril 2500000 2500000 1,

' Lurluurqburhtrnurqnurur\urh bruluutpluuS[uit S 134/,np]rg 1500000
7L241200 t tutuuqbhplr qurup'ururnnlf; burluirbpfr qtrrnhruund UU rlpurU 1500000 1500000 1

Dnuqhn_ eL+.fhntlplr hurtrp. btunur;ntplmtrtrhp
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Ournurlmplmtrhhp 850000
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L{rpunmlntplmhLhp ur11 2urhntlp thhururqh4nrl q? rlFur\i 350000 3s0000 1
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Furdlrh 2 lumrip 2 4uru 1 bpruqfrp 51 1500000

Orunurlnr-p1nr-hhhp 1500000
L{fpunnr[mplnthhtp ur11 2urhntlp 2htrnurq\n{ q2 4nuril 1500000 1500000 1

)purqfrl _Kuhurqruphurlfrtr urpurLuqnprn

Fudfrh {X }unulp 5 quru l bpurq}rp 51 7000000



U2|uurururbptrtp 7000000

Cthptpfr h \urnmlgtrhpfr nhfotnghh trnpnqnu.f h qurhqurhntrt /hn4r[urba251/,np]rg 7000000

45237176 &urhurulurphhhpf qurhuluhriurh ur2]uulnurtrphhp s2 4Iruni 7000000 7000000 1.

cthBtp[ h 2]rtrmplntlrtrtpfrlluq]nnur1{hpulhnlnqnrd/:hn4r[rub 5113/, np]rg 4000000

4523t777 ld.ruhurqurphhhplr r{tpurbnp:rqrfurtr ru2}uuruurhphhp | +Z lapurU | 4ooooo0 | +oooooo
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G2oooooo 62000000 1

3urdlrh 05 ]unulp 2 4uru 1 bpruqlrp 51 2000000

Ournurlmplnthhhp 2000000

Cttrptplr h \urnnr-lgtrhnh eltfn ugh\ hnpnqsul h qruhrqurlnul /hn4r[urb 42s1l,np]rg 2000000

90431100 9brlurur2ptpir hhnrugnul UU 4Furil 2000000 2000000 1

)puqli1 _Cp2ur\ur rllr2unlurlp[r rlurhruiutrnrf. r

irirdbb 05 funulp 6 quru l bpurqlrp 51 10850000

Uqpurhptrhp 9000000

2nrurm\ hqunnu\ur1|rh ru11 hlntphp/hr4r[urt 4269 I 3000000
44423680 Gfrhurptupnrplurh rlb2 oqururqnpbrlnrl qurhurqurh urll urqpurhpbhp UU +puril 3000000 3000000 1.

tlup2ur\urh uurppunlnpmiltrhp /hn4rlrub 5122/,nplrg 1300000

39224342 Ulpuriuh .lt"pp >urrlrh uu hunn 80000 1120000 1.4

39224342 Urlpurlurh ilhb 2urJrlr uu hurur 90000 180000 2

Udhgqq ur\urfnlLhp/hnar[urb 513 l/,np[rg 6000000

3451600 Ournbp s2 4puril 6000000 6000000 1

U2fuurururLphtp 1000000

GhLptgf h \runmlgtrhplr ptrpurgpmrl hnpnqnr-rl h rqurhqurbnul / hn4rlurb a251l, npfrg 1000000

45222710 Grlpu{ur3 pf \nhuhprlur gnnl uu rlFuill 1000000 1000000 1

Ournur3mplnthhtp 8s0000

Qtrrlhurlmp phntlpfr brunurlmplmlrtrtp/ ha4{rub  B9l, nFltg 850000

90921200 .lhuruunnmlrhpir qhd qurlpurplr burnurlmplnthhhp uu 4Fulli 300000 300000 1

60110000 ${t4lilnph1ur1fb {n}uu4punf}r2nghtpfr brunurlnr-p3mhtrhp uu 4nuril s50000 550000 1

)iiinebn- trhur\ulHrtrurl !! Ztittrunurplptnr-h
Fudlrtr 6lunulp 1 4uru 1 bpurqlrp 51 800000

UqpurLphhp 800000

Cthptplr h \urnnrlgtrtpfr ghpugpnul bnpnqmrl h rqurhqurhnul / bnarlrub 4251/, nplrg 800000

4479L700 U11 qurhurqurtr 2lrhrupurpur\urh trlmphp UU 1purd 800000 800000 1

U2luunnurtrphtp 5000000

CtLphpf L 2frhmplmtrlrtpfr \ruqfrurrulr[hprutrnpnqnul/ hn4rlrut 5113/, np]rg 5000000
45442tOO trtrru\rupurhurl[b $nh4[ purqrfiuphur\u4rutr 2bLphp]r.p!4hurlntp tru nnull 5000000 5000000 7

45453000 Zrurlurlhurpurlfrh tbpur\rulmp3urh oplh\plrhpfr U Lnl'Z-hplr uu 4Fud 1000000 1000000 1

f, puqbp_ 9purilulnur\urpurpnul

Fud[tr 6 luntrip 3 rluru 1 bpurqlrn 51 800000

U2]uuurrutrphhp 800000

Ctttphplr h \urnnrlghtpfr nhfaruglrp trnpnqntrl h qruhqurhmrl / hr4r[rub a251l, nphg 800000

452371,44 apuqbfr rlhpurhnpnqrturh ru2|uuruuutrphhp uu 4nul{ 800000 800000 1

Chbphplr h 2firntplnrhtrtp[r \ruq]unrul[hprutrnpra.ul/ tinrir[rut Suf/, nplrg 1500000

45231143 apuqbf urhg\rugmrf sz nnul{ 1500000 1500000 I
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2000000

2000000

315 12360 LuJq k\nhnrf, 95 r{rn,260rirJ, sz huln 2090 418000 200

3I7rI200 lnuurtrpfr lurprlurbnrplrutr llurpqullnpfr2 \nhrltuunnnp s2 hunn 1500 180000 120

4213r400 lpnut1 SZ hurur 5500 550000 100

3 121 1 180 Ur{urnriunn ruh2urufr2 hnur$ruq 75A q2 huln 15000 150000 10

31212000 U{urnrfuru urh2rur.nfr2 hnruSurq 1004 q2 hunn 15000 150000 10

31531590 Uururpr,ribp/ Onlurnqb:/ luliqhplr YZ huln l 1000 110000 10

3121 1180 Ur{urnilunn urh2urufr2 q2 huru 2800 28000 10

3 15 12350 Lnrurup&ur\ qz huru 7500 165000 22

31512360 I-ullu1 pruurqfrnrlurl frh q2 hunn 1000 18000 18

3!227600 furduhu\|r nhlh s2 hurur 2256 40508 16

31512360 Ulrru\npurn t\ntrnrf lunfr:1250 rlrn SZ huln 2100 189000 90

U2luunnurhphhp 1800000

Chhptpf h \urnmlgtrtnh Utrfourghp hnpnqnul h qurhqurtrr ri / hn4rlurb 4251/, nplrg 1800000

45311138 On4ngurlfh 1nruul]npnr-plurh uurpphplr rnh4ur4pmil uu rlFuril 1800000 1800000 1

Gttrphpfr h 2frhntplnr.htrtpf \urnmgntrl / hnArlurb 5112/,nplrg 5000000

50231100 :DnlngulhL prururlnpnrplruh qurhulutrdurh burluuhp sz 4purd 5000000 s000000 1

Chtrphplr h 2[rbmppilrtrtpfrl1urqfnnur1r[tpur'finpnq+ril/ h+{*t S113i, np]rg 10130700

50231200 Dnrlngurl|rh pruullnpnrplurtr phrllurlhnttf L uurppbpfr 2urhuqnpbmrl s2 nnuril 10130700 10130700 1

Dpurqlrp_Fhur\urpurburl|rtr 2]rhruprupntplmh h \nrlnilirirlrnlnntumplmtr
trurd]ft 6lunrilp 5 4ruu r bpurqlrp 51 18904000

Uqpruhphhp 8180000

$pruutLlu[ur1frtr trlmphp h rq]rurnqphhp/hn+rlrub 4261/,np]rg 120000

30197631 Onrrlp/ 44 $nprlurulr (21x29.71 UU unuh 2300 80500 35

30197231 fd4purqurhur\ qnfnlhpurl|rh pur4urhp, $ur11 UU hunn If 180 72

30L97232 fd4purqruhurll /urpurqur\urp, plplur uu hruur 80 950 12

30197233 tarlpruulurhur\ /prph, ptlnrl UU hunn 100 500 q

30t97234 Olpruqurhru\ /pqpurqurtrur\ \n2ur \ruqrfnrl uu hurtn 1000 12000 12

30199232 Opurp/rfhb, Aa Snprlururfr hurdurp UU hurur DU 500 10

30192121 ep[2iqLr1[\u{np uu hurur 100 1000 10

30r92L28 9pf2/qh1ur3|rlr uu hurur 150 750 5

30199420 fdnqp tr2nulhtpfr huliurp /unuh&rlurbpnrl uu trrnLlh 200 2000 10

30199430 L2nrilhbpf pnr-rp/urpgur\hhpml uu urnlrh 300 900 3

39253200 Qpuuhhy.u\urtbl, Shnp, rftuurluh UU hurur 1000 3000 3

30t97321 kurplr: (uuhqlhp) UU hrurn t700 1700 t
30192710 Unuhd.ulJurr.nfrrn, qpuruhhlu\urlirh UU hurur 250 500 2

39263310 Oprugnrlg uhqurhfr uu hunn 900 900 1

30192720 9bub2fr2 (rIurp\hp) uu hu-nn 250 1250 5

30192135 Uururftn qpurSfrnb urhlur4prlnq rflrgnt\nr] UU hunn 200 1000 5

30192137 Uururf ur qpru$lnnh ilfr2m\ml UU huln 100 500 5

30197111 q*nh:h r.fhrnurriurlu:ph \ruqhp/ rJrnpp uu rnnL+ 100 1000 10

39292510 €urhnh ,ulluuurf\ uu hurur 350 700

30192114 fduhurp, \hlrpfr purpd.|r\fr hunlurp UU hurur 250 250 1

30141200 Zur2rluruurpp (\urfinr11urunp) qpuruhblu\urlfrh UU hunn 2300 2300 1

39263510 Uhrltlur\ (\t]'q" )/ ri'.'Bp UU hunn 25 500 20

39263520 Ut1ilu\ (\fru1u)/ rifr2|rtu uu huln 40 400 10



39253530 Uhrlilur\ (\rlqu)/ ilhb uu hurur 60 500 10

30192100 flhulrh hururupurll uu hurur 100 500 5

30192750 Slnrlruurnt Jrhtplr hullurpurbnr UU rnnr$ 600 500 1

30192760 Up|y un{npur\utr uu hurur - 150 750 5

30197331 'I*1lh> purtrnLrnrl UU hunn 2200 z2uu 1

30199231 Lrudur\f bpurp A5 &hur1u{r}r UU hurur 40 800 20

3924L2tO tl\puu/ qpuruhbl ru\ ur1|rh uu huru 250 250 1

228L1L30 Shup 24 f9 UU hurur 250 250 1

22ALtt30 Shurpl2 tp uu hurur 30 OU 2

30192160 trrurpu4publnlp/ 2uFhlu uu hunn t20 600

Spurhuqnprmul|rh hlmphp/ hq{rub a25al,nphg 7000000

9134220 -tf qtlulfh rlrunhflrp(en 590) s2 tr-n 400 1200000 3000

24100000 Uhrld{urb quq SZ TFuril 4000000 4000000 1

9211 100 lurpdf2fr 1nu1 uu tJr-l 1500 320000 200

34331300 U{undhphLuhtp[ qurhhuurrurluruhp uu +Furu 1480000 1480000 1

thhgrurlurl]rh h hurhprul[rtr utrh{r blmphp/br4rlurb 4267l, npfrg 250000

39836000 U.ltL uu hunn 1000 12000 72

39837271, I.{ugnq L rftuppnrl ilfr2nghtp uu lnilb 460 11040 24

1842rL30 fthrnfhh d.tnhnghbp UU qnl.lq 250 15000 60

39831272 U{rutr llurhurlm hhrlm\ UU hurtn 530 5360 12

39224332 InLll UU hunn 2000 4000 2

33761000 Qnrqurpuhi, pnqp/ nnrlnhnrl UU huln I)U 15000 100

37521240 h1h\upur\uih pllqtp (I.b'\) 50.{rn uu hrurn 100 6000 60

39522330 Zururur\ rlurpphpr 2np uu hurur 1500 12000 8

39811300 C4p pruprlurghnq hhqnr\ uu hunn 750 9000 t2
3983r244 Zhqnr\ o6urn uu hurur 400 5400 16

395 14100 Uf ttphuf \ fuu{ nur upp}rltrhp uu hurr.n 400 3200 8

39837000 Stufuurrlhl uu huln 500 33000 55

44571,1,t0 truh u2|uuuurhpurlfrh uu hruu 2300 23000 10

34927260 (rurlurlur uln:tF UU hurur 500 7500 If

4451t]-70 Orglu uu hurtn 1300 6500 5

424L5220 Urullur\ phnhurururp, {h\ u\n{ uu hunn 15000 80000 5

Zururm\ hulurnur\urlfrh rul1 trlntphp/hnqr[rub 4289/, npfrg 810000

15320000 ;un &fr;tihphhurhhplrulurhhuuulftuuhp iru 4Furil 80000 80000 1-

33593100 Onrtrurhlnrphp uu hunn 2800 56000 20

674000

33693100 Luilq' t\ntrnrf, 40r{ur, 190rftI , E27,220'.I., UU 4Iruril 1500 18000 72

31521,420 I.udq'Smrifrhhughtruurlfrh, 18tlur, 220t1 uu 4Furil 500 5000 t2

31588L00 h1h\upru\urh rl*tt+*\' rlfrurphhn, htppfrh rlnhururdfr-hnqurhgmrlnrl UU hurur 550 13000 20

3 1681610 h1L\upur\uLr urqruhnrllry, rlfrurgurq 32A uu huln 950 9500 10

31651400 Ih\nruf2 druqullhhhtp uu hurur 200 2000 IU

3122 1180 I-utfqhpf \npunhhp rlhb nIruril 100 1000 10

31227L80 Luilqhplr \npurntrhp \urlumlfr urnruurnurqJr hrurlurp tru nrrunl 400 8000 ZU

3 132 1190 h1h\u pu\urh lup' 2 *4rft1 uu 4nul{ 250 25000 100

3132 1190 Imuurp&ru\hhn (I.b'I) 50.lrn rJu 4puril 40000 80000

31512360 I-uilq' k\nlrnri , 95.{ur, 260{{, E27,220r{t uu +Furil 2300 45000 20

31521240 h1h\npru\urh luilqhp (I-b'I) 50.tn uu 4Fulil 5000 30000 6

444TLLrc apf bnpu\, rlur\urh uu hurur 1500 3000 2

4441,It20 apf bnpur\, 2 rlrur\urtr uu huru 7000 21000 3



44163t71, lhnfhh iun4nrlur\ 1, 1/2 uu il 300 27000 70

44763112 lhurfhh |un4n{u\ 1, 3/a uu ri 350 24500 70

44763113 lhrnfrhh ]urlrlnrlru\ 3, 1 uu u 650 4s500 70

44423240 Jurh4nqp rfhrnu.lqur uu hurur * 15000 30000

44322100 Jurlmlu, hunftu\urpq2f,UTP Cabele 5 level uu { 100 1500 L)

441926r0 Uhlu, 2|rhuprupur\rutu uu \q 700 10500 l-f

44t92620 Jhiu, rfhuurlur\urh uu \q 800 12000 If

39299320 Zurlh$, urnurhg 2p2ubu\fr uu hrurn 8000 32000

249t7200 Unufrtrd., hlnrlufur uu tts 1250 2500 2

4452LI20 lnurh $urlluhhLhp UU huln 12000 12000 L

421,3t400 lpnuh1 uu hurur 5500 55000 L0

3t711,200 lrnhrlhtrurur,nnl tiu hurur 1500 15000 10

3127t400 U{urmfurur urh2rurnfr; uu hunn 15000 150000 10

Spurhuqnpururlfrtr uurppun[npntrftrhp/hn4rlurb 5121/,np[rg 500000

33197470 Uh{u4nqhp/phnhurururp unlurnrlhphhurl frl uu nnuril s00000 500000 1

Ournurlnrplmhtrtp 9274000

hLhpqhuf\ burnrugntplmh/br4rlurb 4212l,nplrg 4400000

o)5-t lruu h1h\utpur\ruhmpl urh pur2fu nr-ri uu 4nur{ 4400000 4400000 L

Uqurhnr{urqpur\urh brunurlntplmtr/ hn4r[rub a215l,npfrg 64000

55511170 @nluulpulff 2ngLhpb hhur \urqr{urb urqurhmlurqpur\url: uu rlFuril 64000 54000 1

9nqpf h uurpprurlnlmrltrtplr rlurp&ru\rulntplmh /hn4rlurb  21Gl, 
"phg

2410000

50181100 trhnhuruuphhpf {urp&ur\urprplnth rlutpnp+h hhrn illruru}rh uu +Fulil 2410000 2410000 1

Qhlhurhmp pbnr-;pfr ur11 brunurlntplmhtrhp fluuSlrub aB9l 2400000

9834L140 dhhpf qruhqurhrlurh brunurlmplmhhhp uu rlFurd 2400000 2400000 1

U2|uuururtrplrtp 1450000

Cthphpir h \runntlghtptt pltfn*ghh bnpnqnr-rl h rqurhulubatrl/ hnarlurb 42S1l,nplrg 1350000

45271,713 Cpruilmurphplr 2fl,rurpurpur\urh ru2]uunnurhptrhp tiu lFuril 300000 300000 1

45231,131 Qpurilruurur\rupurprfurL |unrlnrlur\ur2urphpfr hhur \urqrlurb uu rlFuril 150000 150000 1

451,11470 I-ruLr12ru$r.nur1frh ur2]uunnurhphhp urlqlrhhpfr hunfurp tiu 41rurd 900000 900000 1

Uhphtrurhtpfr t uurpprurlnpntrlhhpfr ttrfaurgb\ lrnpnqrr.rl h qurhqurLntri /hn4rlurb a2s2l,npfrg 100000

50530000 'Ilunndbhurhurtrnrl uurppf purlpFh2fr flrgpurr{npnul uu hunn 4000 15000 4

50377240 'lulndthurhurhnrl uurppfr thfourgh\ ritpurLnpnqnuf uu hurur 28000 84000 3

9!!qEnh h 2[rhnr-plmtrtrhF]r \unqfnnurlrlbpurbnSnqnlil/ fuaarlrub 5113/, np]rg 1000000

4522r1,42 Itr 11 hrutrntp 2|rhrupurpru\urh ur2]uulnurtrptrhp uu rlpuril 1000000 1000000 I
Opu q[p_tinnrpunqur]urrpl nrh

trudlrh T lumttp 4 rluru 1 bpurqfrlr 51 1500000

Durnurlnrplnttrhhp 1500000

Uuruhurqfnnur\urh burnurlmpgnr-hhhp/ hn4rlurb 42a1l,nnlrg 1500000

9833 1130 Unnrl2urprupru\ruh burnurl nrp3 mhhhp uu 4Furd 1500000 1500000 1

Opuq[p-Uqnpur

trudlrtr 8 lumrip 1 4ruu 1 bpurqlrn 5t 2000000

Urunur3mplnrhhhp 2000000

t hpp[tr qnpbnqnr-rlhhp/ hnar]urb a22tl q2
lpuril 2000000 2000000 1

O.pruqf p_$pur4urpurhhhp

trurdlrt 8lunulp 2 4uru 1 bpurqlrp 5l '
611000

UqpurhpLhp 100000

$purutLlur\ur1]rh trlmphp h rqfnnnqptrhp / hnarlurb +2G1l, np]rg 50000

307992127 +pf2iqLqf\u{np uu huln 100 2300 23

30192128 +pf/qh1u1frl: uu hunn 150 3000 20



30792t37 Uururlnn qpuSfrnt ilf2nt\ml uu hunn 100 1500 15

30197232 fdrpruqrutrru\/ rupurqur\urp, pqplul uu huln 80 2400 30

30197233 tdlpruqurhur\/pqph .ph1ml uu huru 100 4000 40

30197234 brlpruulurtrur\/plpurqurhur\ \n2ur \urqrfnrl uu huln * 1000 10000 10

30192100 ltulrh hruuurpur\ uu hunn 100 500

30197331 1u\[2puhnhn{ uu hurr.n 2200 2200 1

30197321. lurpfr2(uurhqlhp) uu hunn 1700 r700 1

39263310 )prugnrl uhquhfr uu hurur 900 1800 1

392472I0 J\pur.n/gpuruhLl ur11 ur1 |rh uu huru 250 250 7

30\99420 ?nr-qp h2nrrlhhpf huilurp/ unutrArlurbpn{ uu urnLtl 200 7200 6

30199430 U2nr-rihhpfr pnr4p /urpgur\hbpnr] uu unL+ 300 1800 6

3019763 1 anr r1p/ A4 $npilururfr (21x29.71 UU |'rInr+ 2300 15100 7

30192720 Iburh2lr2 (ilup\hp) uu huln 250 250 1

30\97tt1, -truplr2|r dtr.nruqurlurph \urqtp/ rlrnpp uu trrnLlh 100 1000 10

thhgurlurl|rh h hurLpurlfrh uhh4fr hlnr-php/ha4rlurb a257l, npbg 50000

39831241 Odrun/d.bnplr uu hrurn 260 1300 5

39836000 .lrlht uu huln 750 1500 2

33761000 2nrqrupruhf pnrqp/ nntlnhm{ uu hunn 100 2000 20

39224337 }nr11 pruu/ rlnr-11 qluruurriururulfrg UU hunn 500 600 1

3922434r ?urdplnr-r1 (*ryup\tL) / qlururmfuruurl]rg uu hurur 600 500 1

39513200 Oqph, urtrd,hnncfrll uu huln 105 2700 20

19541000 tln1Jt tpfrlhLrulfrh unqpur\htp, qurp\/ urry:|r hullurp uu hruur 10 140 74

39855000 Zulnur\ rlurppnq d,nr1 uu hrurn 1000 1000 1

3983 1261 )du:nlr r.nurpru/ Odurnfr urnrrlr. uu hunn 250 750

3983L244 fdrun / rnhurhurullurh uu hunn I)U 1500 10

39839100 Tnqurplrur\ (ururln\) /Uqp hunlurphlm hrurlurp dnrlml/Uhrnrurgur uu hruu 1400 8400 6

39839200 lnqurpfrur\ (uulln\) /Urp hurrluphlnt hullurp uu hunn I5U 780 6

39811300 Znr.nruqurlr2 (qhqnrlnp) uu huru 370 4440 72

39812410 kurhnrlpf rfru3thgrlurh rlfr2ng uu hunn OUU 3600 6

3983t27r Uqnr-hq/ Uruhfrnrupurhirqhhfr\ h2urtrur\mplruh UU hunn )U 750 If

39838000 U{t1 qnqurpiru\fr hhur/ UU hunn 1400 1400 1

39831242 Lrl*gph rJrn2|r d,hnpml flurhurpr hunlurp UU hq 880 2640 3

395 14100 tru{pur\;u r{ur$lhhtfurh }uunlnur upp}rlhhp UU huln 1500 7500 5

39522330 lurqrUl1 rlurpphpt 2np uu hunn 750 6000 8

39522330 t-huppnrl \urnptrhp uu ulnL+ 150 3000

511000

20

Uurnurlmp3nilrlrtp

hbhpqhurf\ burnurlmp;mLfirn4rlurb 4212l,npfrg 190000

553 1 1 100 h1h\urpur\urhnrpl urh pu2fu nr-rl uu rlFurd 190000 190000 1

trnrlmhurl burnur;mplnthhtp/hn4rlurb a2B/,nplrg 45000

55111- 100 tuiltpr.2p[r pru2]unrrl uu 4Iruril 45000 45000 1

rlutrqlr burnurlmplnttrtrhp/hnnrlurb 4214l,nplrg 50000

39111140 hhurhptrtrn uu +Furli 60000 60000 1

Ch4hurhmp ptrnqplr brunurlnr-p1nr-trbtp/frarSlurb 4239/, nplrg 216000

98341140 'Ilurhquhmp3urh brunurlmplnrh UU uril|ru 18000 216000 L2

Jpuqlrp_Sur2]rpfr U2ur\m1p]r urnr.h

Fudlrh S funuip 2 4uru 3 bpurq]rp 5f' 5865000

Uulputrphht 500000

9ttrgurlurl]rtr h hurhprul|rh uhhrfr trlntptp /hnar[urb 42G7 / , n1 Its 300000

39831241 Odun/d.hnpfr uu hunn 260 7800 5U



39836000 Urlht UU huln 750 7500 10

33751000 Qnrqupurhfr pnqp/ nnrlnhml uu hurur 100 15000 L)u
39224337 }m1 1 puru/ 4m1 1 qluruunftuuurl frg uu huln 500 3000 5

39224332 }nr11 puru/ 1nr11 gfrh\urquln uu hrnrn 1300 5500 5

39224347 Qrurfplnr-q (urryurp\rt) / qluruuuluruurlfrg UU hunn 600 1800 3

39224342 ?rurfplntl (utqputlh) / rltrnurqru UU huln 1600 4800 3

39513200 Orph, uh&tnngfr\ uu hunn 105 2625 25

19641000 tlnDtplrlhhrulfrh rnnqpur\htp, qurp\/ urqpfr hullurp UU huln 10 3250 325
39855000 lunnur\ rlurppnrl drlrl uu huln 1000 5000 5

39831261 )drunfr r.nurpur/ Odurnlr urmrJr UU hunn 250 750 3

3983t244 fdurn / urhuhuur\urh uu hurur 150 2250 If

39839100 ]nqurphru\ (ururln\) /U* hunlurpblm hunlurp Anrlml/Ubuurqlur uu huln 1400 2800 z

39839200 $nqurplrur\ (uulln\) /Uqp hurlurphlnt hullurp uu hurtn 130 260
39811300 Zmnurqurfl (r1hqn1np) uu hunn 370 740 2

39812410 9ruhntlpfr rJrurllhgrlurh tllr2ng uu hunn 600 3000 5

398372t1 Uulnttrq/ Uurhfrnurpurtrhqthh\ h2urtrur\mplurlr tru hurur 50 250 5

39837272 Uulnrhq/ Urftuh flurlnr uu hunn 30 150 5

39838000 U{h1 qnqrup}rur\fr hhrn/ uu huln 1400 7000 5

39837242 tt[t9ph $n2fr dhnpm{ 1{urhurpr hunlurp uu !q 880 2640 3

39514100 $l$qt,* {urglhhriurh }uullmn uppir2trhp uu hrurn 1500 50000 40
39522330 lulnur\ rftupphlnr- 2np uu hrurn 750 30000 40
39522330 t-Iurppnrl \rnnphtp uu untrh 150 5000 40
15800000 9urtrurquh uhh4ruriphpp Lru 4nulil 125885 125885 1

Zururntll hulururur\ru1]rh ur11 blnr-ptg/hnqrlurb 4269/,nplrg 200000
1853 1100 t rlhphhp h qurpqhhhp uu 4Fulil 200000 200000 1

U11dhphLurlrtp h uurppul[npnrdhhp/hn4r[urb 5129/,np]rg 200000
39773432 Cln2b\nr1 uu 4Illult 200000 200000 1

U2fuulnurbplrtp 500000

hulurlnul /huplurb a25 l/,nplrg 500000
45461100 Chbphnb, 2hl,rnrptnilrhhp]r ptrpurgh\ hnpnqrftutr ur2fuulnurhphhp uu 4nuril 500000 500000 1

Ournurlntplntbhtp 4866000

hLtnqhurlr\ brunurlmplnttr/hnqrlurb a2l2l,npfg 3200000
65311100 Ll h\urFur\utrnrplurtr pru2]unr-rf uu nEuril 1000000 1000000 1

6521 1 100 ]urqh pruzlunril uu 4nuril 2200000 2200000 7

9nrlnthurlturnru;ntp;nttrhtp/haarlurb +213/,npirg 536000
55 1 11100 u{hlnl pnh pu2}unuf uu 4lruril 200000 200000 1

909 1 1200 -lrlFuilurhhhFh ilrupnmrl uu 4lruil 335000 336000 1

fllh*EE fb"lfn! lgnurlnr-plmhtrtp/hqr[rub 4239/, np]rg 930000
9834L140 'Ilurhu+uhnrlaj urh burnurl mp1 nr_tr UU ullhu 18000 216000 12

98391200 U11burnulnr-p1mhhhp uu I}pulil 774000 714000 1

Uuruhurqlrurur\rutr brunurlntpSnttrhhp/ hn4rlurb azall,rrlhg 100000
7513 1100 2,p2h2 uhrlrnurhqnrplurl-r rluruhruqlnnurgrlurb brunurlmplmh uu 4purli 30000 30000 7

79631400 UZluruuru\urqrih rfuruhurqflnur\ruh brunurlmplnrhhhp uu 4Furd 70000 70000 1

Uhphlrurlrtplr h uurppurrlnpntilhhplr ttrfaurgh\ hnpnqmrl h rqurhqurtn*I /hqrlurb 42521 , nfi4 200000

tiu qlrturI 200000 200000 1

Eutdlrtr a lunulp 2 rluru 4 Epruqlrp 51 5810000

Uqprutrphhp 3550000
9puruhhlur\ur1|rh Llnr-php h qlrurmlphhp / hlArlrub C2G1l, nplrg 150000



64000

223rt600 CLnphur{npru\urtr purgh\hhp uu +Furil 64000 64000 1

86000

228!r1,50 Sbuip/96p./ uu hunn * 220 14960 68

2281rr40 Shrnp/12p./ uu huln 30 15200 540

22817t80 f,l*qhp uu huln 200 5800 34

30799212r +pb2/qh4ir\ullnp uu huln 50 4400 88

30192737 lhuurfrur ul-r uu hunn 80 2720 34

39292510 PurhnLr uu hrurn 100 4400 44

39292570 kurp\flr uu hurur 500 17000 34

30192730 ihupf \ruqri uu hurur 20 8120 406

37827240 ,\rup2ur\urh urpnrl UU hunn 100 1000 10

30L92740 Onrrlp qnrhunlnp, Aa &huryul]rfr uu trtnL+ 100 1000 10

30192130 lnrhulinp rlunnfnn uu trrmqr 450 4500 L0

30192100 flhulrh uu hurur 50 500 10

2285!300 Otlptntr qurhngtrhp UU hurur 100 4400 44

9ttrgurqurlfrtr h hurhprul]rtr uLh4]r trlnrphpftnarlurb 4267 l, rplrg 900000

39221320 Zurhpulf h ubh4f \uqrfurl1hpqnr-rf uu nnunl 900000 900000 t-

Zunnm\ bqururur\ur1]rh ru;1 tqntphp/h"+rlurb 4269l,nplrg 2500000

37400000 Uqnpuurl |rh uqpurhphhp uu 4rruril 200000 200000 1

1-8531100 L{hphtp h ulurpqhhtp uu 4n1uil 350000 350000 1

3121210 Ou1\ru1 |ih \nrlqnqlrgfrruhhp uu 4nrurI 550000 550000 1

39281100 lnr2uLrlhphhp UU 4nuril 300000 300000 1

16151 100 U11qurhurqurtr b3mphp UU 4nulil 1100000 1100000 1

Ournurlmplnrhhtp 2250000

9m1p[r tr uurppunlnprr.rttrbpfr r{urp&ur\urlmplnttr /hn4rlurb 4216/, np}rg s50000

77L1I300 U31 uurppullnpnulhtpfr rlurpd.ur\urprplmtr UU +FurU 560000 550000 7

Chqhurhmp ptrnqplr brunurlmplmtrbbp/hn4rlurb aB9l, nplrg 1500000

79951100 tlfr2ngrunnrilhhpfr hbu {urb thhb uu rlFunl 100000 100000 1.

45451000 thu{npmrf/}nrp2hrn/ uu rlFurd 200000 200000 1

221771,50 €urpurhqtrhplr urqurqnr-p1mL uu 4F1rl{ 12000 12000 1

50110000 U{rnmfnpf lurl irh rJrn}uurqpull}r2ngtrhp}r burnurlntplmhhhp uu 4F1u1i 250000 250000 1

77427000 U1 qnr &hrurlnpfurh burnur3ntplmtrtrhp uu 4FurU 140000 140000 1

55321100 Ubqf uiuurpunnrlurh burnur3mplmhlrtp uu +Fur{ 400000 400000 1

79951110 Uilruhnp3 ur rlfr2ngurnmrlhhp uu 4Furu 398000 398000 1

t rllrpuurrlmplnthhhp url12urhm1p 2hhuurqh4nq\urqrlur\hpqmplmtrhtpfrb +? 4FurU 200000 200000 1

)puqfrp_Lur]uurrSrpngur\urh \ppniplntt
56170000

CLpugb\ rlpunlur2Lnphtrtp qhrnur\ruh h hunlurytrptrhp[r ny urnhupurgfrh / hnarlurt 46371 55000000

99600000 SutZlttrl, Idhq 1 Lnhz ZOU9-|rh rnpurhughpur q2
4Furd 7000000 7000000 1

99600000 S*Zhnl, pf{ 3 LnhZ ZnU9-frtr urpurtrughpur q? 4nuril 15000000 1s000000 L

99500000 S*Z}rfrlr ldhq 4 Lnhz ZOU9-|rh uprutruShprn g?
4Fulil 33000000 33000000 1

Ournurlnr-p3nrhlrtp 1-170000

Uuruhurqfruur\urh burnurlmplnttrtrtp/ hqr[urb a241/,np]rg 1170000

85110000 Zf {urtrlurhngurlfrli h hurpur\frg burnrulntplnthlrhp uu lIrutil 1170000 1170000 1

nth

Furdfh 09 ]unr-rip 2 4ruu l bpurqlrp 51 1000000

Ournurl nr-p1nr-trtrt p 1000000

Chqhurtrnr-p pbnrlpfr ur11 burnurlnrplmhlrtp/hnar[urb 4239/, np]rg 1000000



98391200 flhrlhrlnprurlrnluru4p{urh burnurl nr-p1 nthhhp uu 4purli 1000000 1000000 7

Furdlrtr 09 |umilp 5 rluru 1 bpurq[p 51 23000000

ctrpurgb\ rlpu[fur2hnphtrhp qhurur\urh h hurllurltrptrhpfr nl urnlnnpurlbh / hnrFlurb aBl 23000000

99600000 S*ZItpt' Uprlhuufr 4qlrng 2fl U9-frh urp*q"bEE* q2
4Furtl 23000000 23000000 T

)purq[rpg-Upururrlqpngur\urh \ppntplnth S*Zttph,.t unqqqq4lq

Frudlrh 0g |unufp 5 rluru 1bpurqlrp 51 2052000

Uulpurhphtp 320000

gpuruhtrSur\ur1frtr trlntptp h rq]rurnqglrtp / hnarlurb 4261l, np]rg 25000

30197234 Olpurqurhru\/prpu,ruluhur\ \n2ur \utqdn{ uu hurur 1000 10000 10

3019763 1 fanr-r1p/ 44 $nprfururfr (27x29.7 | uu urnLrh 2300 13800 6

30r992721. aplry/qLa[\u{np uu hunn 100 1200 T2

Unnq2urulurhur\urh h lurpnprurnni trlntptp/hn4r[rub 4256l,npfg 10000 10000

55_t4r r55 rirhur pd2\u.t\urh tprurnfr\ uphpurpurpurlhb N1, 2 UU huru 200 2800 r+

33741,717 trunirurl.t uu hurur 100 2400 10

33531260 ltt4 UU hruur 800 2400 3

15911 100 Uqhp.tr pd2\ur\urh UU huln 800 2400 3

gthgurqurl|rtr h hurtrpurl|rtr ulrtrqlr trlntphp/hnrplurb a267l, npfrg 75000

3983124L Odun/&hnplt uu hurur 250 3900 I]

39836000 Urlhl UU hurur 750 3750 5

33761000 Qmqurpruhfr pnrqp/ nntlnhnrl uu hunn 100 8000 80

39224331 }nt11 puru/ 4nt11 ulluruurrluruulftg uu hurur 600 600 T

39224332 -!nr11 puru/ qnt11 glrh\uquun uu hrurn 1300 1300 1

39224341, lurlp3ml (*ry*l\1) / qluruurtluruurlfrg UU hurtn 600 500 1

39224342 2rurlplnrrl ("r\f.un\r1) / rlhrnurrgur UU hrurn 1500 4800 3

39513200 Oqph, uhd,hnngfr\ uu hurr.n 105 5250 50

19641000 rlnfrkpfrltburlirh urnulpur\trhp, rqurp\/ rurplr hullurp uu hunn 10 980 98

39855000 Zururur\ ilurppnrl drq uu hunn 1000 2000 2

39831261 Odurnfr ururpu/ Odunfr rnnufr uu hunn 250 750 3

39837244 fdu,rn / rnhurhuurhurh UU hrurn 150 1800 t2

39839100 Tnqupfrur\ (uurrln\) /U1p hurrlurphlnt hulhup dnlmf tlhuuryur uu hruur 1400 1400 L

39839200 $nqurpfu\ (uulln\) /Ury hul{urphlnt hullurp uu hunn I5U 780 6

39811300 lnururqurlry (4hqn4np) UU hurur 370 4440 12

39812410 -rurhatl plr rlurl l h grfiuh rlfr2ng UU hrurn 600 3000 5

39831271, Uuinrhq/ Uurhlnnurpurhfqhhlr\ tr2uhur\mplurh uu huln 50 750 15

39831272 Uqnr-hq/ Udruh $upt UU hruur 30 450 I)

39838000 Urlhl qnqurpfru\f hhrn/ uu hunn 1400 2800 2

39831242 Lrl*gpit rfrn2|r &hnpml llutrurpr hrurfup UU \q 880 4400 5

39514100 Frurfpur\1ur rl ru$lhtlfurh luurrlmn upp[2btp uu hunn 1500 12000 8

39522330 lunnur\ rlurpphlnt 2np uu hunn 750 5250 7

39522330 Uruppnrl \r.nnphhp UU urm$ 150 6000 40

Zunnm\ llqunnur\rulfrh ur11 trgntphp/hn4r[urb 4269/,np]rg 210000

35331100 $h1ur\hhp uu lpuril 210000 210000 1

Ournur;ntplntblrtp t742000

LLhpqhurfr\ burnurptplnr-L/hnqr[urb a212l,np]rg 950000

653111,00 h1h\urpur\uhntp3 urtr pur2]unul uu qFuril 40000 40000 L

55211 100 eurqf pru2|untd uu 4nuril 910000 910000 1

gnrlmhurl brunrulntplnthhtF/hn+{rub 4213/,np[g 300000

65 111100 hlnr 2pfr pur2]unuf lUt rlFulti 132000 132000 1
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uiluhhhpf rlu
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r burorulmplntbbhp/hn4rlurb aB9l, nplrg

ntratnrh uu
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Uuruhurqfrurur\rutr burnurlnr_plmtrtrhp/ bqrlruE 4241l,nplrg

O'pur q[rpp-Upuur +ulpn gurh*tt \nfn

1

L2

1

Furdlrh g ]umrlp 51uru 1bpurqfrp 51' 2:10000

UqpuLphhp 150000

Qpruuhhlur\ur1frh hlntphp h q]nnnqphhp / hqr[urb 4261l, np]rg 70000

30197531 fdnulp/ 44 Snprlururfr (21x29.7) uu rrrnl.tr 2300 20700 9

30L92740 fdnulp qnrtrunlnp, Aa d.hur2ulfrfr uu rnnt$ 2600 23400 9

30L9723t fdlpurqurhtu\ ulnfrtlhpurl|rh purrlurhp, $ur11 uu hruur 15 I6U L2

30197232 Olpuruqurhur\ /urpruqur\ urp, prlplur uu huu 80 960 t2

30L97233 fdrlpu qurhur\ /paph, ph1 nrl uu hunn 100 500 5

?0t97234 fdrlpuqruhru\ /pqpurqruhru\ \n2ur \urqrfnrl UU huln 1000 1000 1

30L99232 Opup/ilhb, 44 Snprlururlr hullurp uu hurur 50 600 10

30L92127 apf2/qb4f\u{np uu hunn 100 1000 10

30192128 spfy/qhprsflr UU hunn Llu 750 5

30199420 fdnulp L2nulhhpfr hunlurp /unuhAr.l urbpnr.l uu urmrlr 200 400 2

30199430 L2nrilhbpfr pnr-4p/urp gur\ htpml UU ulmth 300 900 J

39263200 Qpuruthlru\ur:hh qhnp, rfiurnlurl: uu hunn 1000 1000 1

30L97327 9utp},: (uuhqlhp) UU hurtn L700 1700 1

30L92710 Unuhd.urilururlru, qpuruhLlur\urlfrtr uu hurur 250 500

39253310 Opurgnr-1g uhrlurb]r uu huln 900 900 7

30L92720 abub2fr2 (ilrup\hp) uu huln 250 1250 5

30192135 llurur]rur qpufr]nnh urhrlur4prlnq ilfr2nt\nrl uu hunn 200 3000 15

30t92737 llurtnfu qpu$[urh rifr2nt\ml uu hrurn 100 1.900 IJ

30197111 q*plt:tr tlhurrurlurlurph \urqhp/ rJrnpp uu trln+ 100 900 9

39292510 Purhnh,qpruufr\ uu huru 350 700 2

30192114 fdurhurp, \hfpf pup&fr\|r hurilurp uu hunn 250 250 1

39253510 Uhrlilru\ (\tlqu)/ $"pp uu huru 25 500 20

39263520 Uhr1ilu\ (\rlutu)/ ilhlhL uu hurur 40 400 10

39253530 Uhqrfur\ (\$qu)/ {hb uu hurur 50 600 10

30192100 flhulrtr hu:.urupur\ uu huru IUU 500 5

30192750 $ln ilururnt phhpfr huLl urpurbnr- uu urnL+ 600 500 -t

30192750 Upfy un{npru\urh pu hrurn 150 750 5

30197331 aru\fr2 purtrnhnrl uu hurur 2200 2200 7

30199231 t urilur\f bprup A5 &hur2ulirir t-ru hurur 40 800 20

392472L0 tl\puln/ qpuruhh3ur\ur1f h uu hurur 250 250 1

2287tL30 Shup 2412 uu hunn 250 250 1

2287t130 Shurpl2 12 uu hunn 30 60 2

30L92160 trurpuqp ruhl mp/ 2rnplrlu uu hunn 120 500 5

9tlrgurrlurlfrh h hruhpurlfrh utrb4]r trlmphp/hnqrlurb 42G7 l, nylrg 80000

3983124r Odrun/&hnpfr uu huru 260 3900

39836000 urltL LIU hrurn 750 3750

3376 1000 9nr-qurpuhfr ldnlrl1d/ nntlnLnr] uu huln 100 8000 80

3922433r }nr11 puru/ 4nt11 qlururnrluruurllrg UU hurur OUU 3000 5

39224332 }nr11 ptuu/ 1nr11 gfh\ruqurur uu huln 1300 6500 5

39224341 Qurrlplnul (*tp*lt\tt) / qluuutfuruurlfro uu huru 600 1800 3



39224342 9rurlplnr-q (*ry*nh) / rlhuurqur UU hunn 1600 4800 3

395 13200 Or1ph, urtr&hnnglrll uu hurur 105 5250 50

L9641000 tlnDtphlhhurlfh urnulpru\hhp, qrup\/ urry:f hullurp uu hunn 10 960 96

39855000 lruurur\ durppnl Anrl uu huLn 1000 1000 1

3983 1261 Jdrunfr urrupur/ Odrunfr urnr{r uu huln 250 t50
39831244 )aurn / rnhurhuur\urh uu hruu 150 3750 25

39839 100 lnqurplrurll (uunln\) /Ury: hurrlurphlnt hullurp An4nrl/Utrnur4lru uu hunn 1400 8400 5

39839200 lnqupfrur\ (uulin\) /Ury: hullurphlm hullurp UU hrutn 130 780 6

39811300 lnutuqrnlr2 (4hqn1np) uu hurur 370 370 1

39812410 -Iruhnrl pfr rJrul lhgrluh rlfr2ng uu hunn 500 3000 q

39831271 Uqnrhq/ Urubfrnupurhlrqhhlr! tr2urhurllntplurh UU hurur 50 750 I)

39831272 Uqnthq/ Urlurh flurpr uu hunn 30 450 I)

39838000 Urlhl qnqurplru\f hhur/ uu huru 1400 1400 7

39831.242 I..|*gplr rfn2f &hnpnrl llruhrupr hulhup uu tlq 880 2640 5

39514 100 trurrlpur\1 ur {ru$lhhrlurh }uullnur uppfrltrhp uu hunn 1500 7500 5

39522330 Zuruur\ riurpphlm 2np uu huru 750 5250 7

39522330 [Ir.uppnrl \urnptrhp uu trrnl+r 150 6000 40

Ournurlmplmhhtp 80000

hhhpqtuh\ burnurlntplmL/harylurb 4lt2l;;ryfg 80000

6531 1 100 h1t\urpur\ruhnrpl urh pur2iunrrl uu 4nuril 80000 80000 1

Dpuqfrp_2urpruquln \npgprub urtrAlrap

trurdlrh 10 lunulp 3 luru 1 bpurqhp 5t 250000

Ournurlntpgnr-hhhp 250000

Znqup\ur{npntp3urh Lqruurnhhp p1m2t1}rg /hn+rlurb a726 / g2 rlnurtJ 250000 250000

Dn*eh1n_ Ung. bpurqfrp S*Zhn

trudlrtr 10 |unr-rlp 7 luru l bpurqlrp 51 2000000

Ounurlnr-plmbbhp 2000000

U11 lrulruuutrhp p1m2h1]rg /hn4rlurb 4729 l,nyfg 2000000

75310000 l,u1 ruuurhtpfr burnrulnrplnrhhhp q2 rlFtud 2000000 2000000 1

{uplur\urh Flnr2hfr rlfr2nghhpnr[ trurluruurhurlnrl 2447LIOOO

Snhqurltrh plltlhth rifr2nghhpnrl bur]uururhutln4 33130700

C\rurfhtrp 2778/.L700


